1. Determine the pressure at the head of injection well if the well has a depth of 2600 m for pumping
210 m®/day of water into the reservoir for the data: formation pressure is 24.0 MPa and the
acceleration coefficient (productivity coefficient) is 10 m®day-MPa.
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2. Determine injection pressure to be created for pumping 250 m®day of water into the well to the
depth of 1800 m, if the pressure in the injection line is 18 MPa. The distance between the wells - 800
m; radius of wells 0.1 m, the coefficient of permeability 0,1-10** m? . Layer thickness is — 18 m.
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